Bianosiai

Po3knananHs Ha MHOXXHHKH MHOTOYJICHIB
l.a) (8x + 5y)(8x — 5y — 6); 0)2(3a+ 2 —10b)(3a + 2 + 5b);
B) (x2+5)(x*+3); r)(a+3b)(a+b); 71)11b(2a— 7b)(2a + 7b);
n) (x —3y)(2 —x + 3y); e)(1—-x+a)(l+x—a); € (n—=2m)(n+4m),
X) (4a—c—3b)(4a—c+3b); 33 (mMm+n+2)(6—m—n);
n) (a + 3)?(a® + 6a —9); i) (a + 2b)(a — b)(a — 4b).
2. Braziexa. Tlonaiite y surnsani: a) 511-120; 6)3%4-45; B)10°-2-555;
r) 315:267. 3.a) (252 + 48)% = 3002 = 90000; 6) 300 - (247 —97) = 45000;

L = 1. 1) —7000-22 = —-1520-10% = —1520000.
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B) 78 4+ 22 = 100; 1)

4. a)x = 2 0)x =—1; B)x =2abox =-2; 1)x=-0,5.



